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Description 
 
The TC-2 is a mechanically operated 
lock for commercial vehicles.  
 
The TC-2 is very user friendly because it 
can be operated by using only one hand. 
By pressing the pin in the lock your 
goods are secured. No keys needed.  
 
Installation of the TC-2 is quick and easy 
and uses standard tools. For an even 
faster installation we have the TC-2 
‘special’. This one uses pop rivets.  

Technical information: 
 
Material: Steel 
Finishing: Anti-Rust treatment 
Lock: Slamlock with built-in cylinder and 

3 keys 
 

Options 
- Set of 2 equal conclusive TC-2’s 
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Description 
 
The TC-3 is a mechanically operated 
lock for commercial vehicles.  
 
The TC-3 is very user friendly because it 
can be operated by using only one hand. 
By pressing the pin in the lock your 
goods are secured. No keys needed.  
 
The TC-3 differs from the TC-2 
because of the extra stainless steel cover 
that ensures that the locking pin cannot 
be reached with burglary tools.  

Technical information: 
 
Material: Steel 
Finishing: Anti-Rust treatment 
Lock: Slamlock with built-in cylinder and 

3 keys 
 

Options 
- Set of 2 equal conclusive TC-3’s 
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Description 
 
The TC-4 is a mechanically operated 
lock for commercial vehicles.  
 
The TC-4 is very user friendly because it 
can be operated by using only one hand. 
By closing the door your goods are 
secured because the TC-4 locks itself. 
No keys needed.  
 
The TC-4 locks with a fixed bolt onto the 
door. When the doors is closed it locks 
itself in the TC-4. The TC-4 consists out 
of one solid part and thus cannot be 
reached by burglary tools.    Technical information: 

 
Material: Steel 
Finishing: Anti-Rust treatment 
Lock: Slamlock with built-in cylinder and 

3 keys 
 

Options 
- Set of 2 equal conclusive TC-4’s 


